9000

BO00

000

G000

5000

4000

3000

2000

1000

0

Run 5038 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

Entries 256738
Mean .01 805
Std Dev 9.881

40

-30

—20 -10

0

10

20

30

40 50

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5038 guartetwise, Asyms0 (Raw): Beam ON, Laser ON

guansiwisa baami last asymi
Entries 0
Mean 0
Std Dev 0

9000

BOOD

000

6000

5000

4000

3000

2000

1000

0

Run 5038 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb

Entries 256738
Mean 0. e0s
Std Dew 9. 881

—40

-30

—20 -10

0

10

20

30

40 50

gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5038 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

auamstwiza baami la=® asymi

Entries 0
Mean 0
Std Dewv 0




10000

BOOO

6000

4000

2000

Run 5038 quartetwise, Diffs0: All

guartetwise diff0

Enfries ZRET3R
b ean G 080-05
Sid Daw 0.05277

0.1

D

0.1

1
0

2

1
0.3

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5038 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

10000

BOOD

6000

4000

2000

Run 5038 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

256738
9.08e-05
0.05277

Enirigs
Mean
Sid Dev

-0.1

0

0.1

I
0

2

1
0.3

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 5038 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif
Entries 0
Mean 0
Std Dev 0




14000

12000

10000

BOOO

G000

4000

2000

Run 5038 quartetwise, NegHelAccO/NSamples0:

All
quartetwize_negHQ
Entries 256738
Mean 2.683
Std Dev 0.1664

2.2

2.4

2.6

2.8

3

3.2

34

3.6

3.8

MNegHelAccD/NegHelNSampleso

Run 5038 quartetwise, NegHelAccl/NSamplesl: Beam ON, Laser ON

guamstwisa baami_last nagHD

Entries 0
Mean 0
Std Dev 0

Run 5038 quartetwise, NegHelAccO/NSamples(: Beam OFF

guarebwise_bsamd negkll

14000 — Entries 256738

| Mean 2.683

— Std Dew 0.1664
12000 —
10000 —
8000 |—
000 —
4000 |—
2000 |—

D B | I | | | | 1 1 1 | | I | | | I | | 1 1 I —t—4 | | | | 1 1
2 2.2 2.4 2.6 2.8 3 3.2 3.4 3.6 3.8

MNegHelAccO/NegHelNSamplesO

Run 5038 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




14000

12000

10000

BO0D

6000

4000

2000

Run 5038 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

Entries 256738
Mean 2.683
Std Dev 0.1665

fa
P

2.4 2.6 2.8 3 3.2 3.4 3.6 3.8
PosHelAccO/PosHelNSamplesD

Run 5038 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON

guamstwisa baami las! posHc

Entries 0
Mean 0
Std Dev 0

14000

12000

10000

BOOD

6000

4000

2000

Run 5038 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

Entries 256738
Mean 2.683
Std Dev 0.1665

P
R

2.4

2.6

2.8

3

3.2 3.4
PosHelAccO/PosHelNSamplesD

3.6

3.8

Run 5038 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser OFF

quamstwiza baomi lnsl poskHs
Entries 0
Mean 0
Std Dev 0




14000

12000

10000

BO0OO

6000

4000

2000

Run 5038 quartetwise, Sums0: All

quartetwize_summbD
Entries 256738
Mean 5.366
Std Dev 0.3287

4.5

5

5.5

B

6.5

7

7.5

PosHelAccO/PosHelNSamples0 + NegHeIAmD!NegHelNSahplesD

Run 5038 quartetwise, Sums0: Beam ON, Laser ON

quamstwisa baami las® summil
Entries 0
Mean 0
Std Dev 0

14000

12000

10000

BO0D

6000

4000

2000

Run 5038 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
Entries 256738
Mean 5.366
Std Dev 0.3287

4.5

5

5.5

B

6.5

7

7.5

PosHelAccO/PosHelNSamplesD + NegHeIAch#NegHelNSahplesD

Run 5038 quartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

Entries 0
Mean 0
Std Dewv 0




